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f(x) = 3x* + 2ax? — 4x + Sqg

Given that (x + 3) is a factor of f(x), find the value of the constant .
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express y as a function of x.
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Figure 1

Figure 1 shows a sketch of a curve C with equation y = f(x) and a straight line /.
The curve C meets [ at the points (—2,13) and (0,25) as shown.
The shaded region R is bounded by C and / as shown in Figure 1.

Given that
e f(x)is a quadratic function in x
e (—2.13) is the minimum turning point of y=1(x)

use inequalities to define R.
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Figure 4
Figure 4 shows a sketch of the graph of y = g(x). where
- x=2"+1 x<2
)=
- 4x-7 > 2
(a) Find the value of gg(0).
(2)
(b) Find all values of x for which
g(x) > 28
(4)
The function h is defined by
h(x)=(@x=2) +1 x<?2
(c) Explain why h has an inverse but g does not.
(1)
(d) Solve the equation
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11. {2__,

Figure 2 shows a sketch of the graph!;n-rith uation
y=2|x+4|-5
The vertex of the graph is at the point P, shown in Figure 2.

(@) Find the coordinates of P.

(2)
(b) Solve the equation
Ix+40=2|x+4|-5
(2)
A line [ has equation y = ax, where a is a constant,
Given that [ intersects y=2|x+ 4| =5 at least once,
(c) find the range of possible values of a, writing your answer in set notation.
(3)
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